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1| FEOU i X 4 ek SR R 2000m T =8 11A5H i 15.5 0.5 3. 29.5 3 L2 < <
T 14.5 31.4 5 3.4 <1 <1
o)1 etk e Bt | 08 | nase | s o5 0 2. 50.0 s 2.2 a a
T 1.5 30. 1 4 2.2 <1 <1
S|MIIHBI S I h02000m 4T 28 ipen | m o8| 05 . SL.7 3 0.6 a a
T 18.8 31.9 9 4.1 <1 <1
- . . . & 0.5 30.9 9 4.0 <1 <1
4| FRET T FEL )1 91569 1000m ] 56 Bl 11H6A i 8.2 1.

(B : RS P RLAT AEITHI1000n T @ . 7.2 31.6 20 6.2 <1 <1
X) # B 0.5 31.5 5 2.3 <1 <1

5 Witk 1359 1000m s} 3/ = 116 i 10.9 : 2. : :
Ho etk R E IR0 1000n 4 T8 H6H . 9.9 31.8 7 1.8 3l a1
6 /NI 1000m e 3T =8 11A7H i 11.4 0.5 2. L7 4 1.8 <l <l
T 10. 4 31.8 6 2.7 <1 <1
7 FH )1 1HK92000m s 3T =8 11A7H i 16.5 0.5 3. 31.6 2 L2 < <
T 15.5 32.0 8 4.3 <1 <1
8 REJI 7K 1000m et 3T fg 11H120 i 12. 4 1(1)‘ i 3. 21 Z ; ; 3 : :
PP E3E 0' 5 29. 1 5 3' 7 <1 <1

9 & ) 119 1000m {3 = 11H120 i 10.5 : 1. : :
T 9.5 31.2 14 8.1 <1 <1
10 AF NI 1000m e 3T =8 11H130 i 11.8 0.5 3. 28. 1 3 1.8 < <
T 10.8 31.3 2 0.9 <1 <1
11 7 FLJVRAT 114 1000m{<} 3T =8 117138 i 11.1 0.5 4. 30.3 2 L1 <l <l
T 10. 1 31.8 6 3.4 <1 <1
12 AR 14 1000m{<} 32 fg 117138 i 11.3 184 2 5. 21 ; i (1)‘ z : :
Vb S AL E3E 0' 5 31.5 2 0.6 <1 <1

13 B HN M9 1500m 3T = 117141 = 18.5 : 9. : :
T 17.5 31.8 4 0.7 <1 <1
14| i EER Ao domiE| 28 |11 g14R | & 6.8 %0 4 30.7 2 0.9 < <
T 15.8 31.6 3 1.9 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 11H15H i 18.1 0.5 7. 29.5 3 1.0 <l <l
Nz 17.1 32.6 3 1.1 <1 <1
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1 {RE R X A FIRM AR A 2000m i T 11A5H 5] 15.5 5 76. 2 1 <10 <10 -
2142 1Rk TEEAE IR X 15 e 11A5H 5] 2.5 3 68.0|> L b - 16 260 276
3| FE B i X Hb S ek BB ##92000m AT 11H6H i 19.8 5 73.8 b <10 41 41
Apmrds (8 pEARm T [ DRI 1000m e 3T 11A6H 5] 8.2 5 70.5 Tb 21 300 321
5% HseiEs I ##91000m A 3T 11H6H fi 10.9 5 70. 4 b <10 44 44
6 IS 59 1000mfs 3T 11A7H i3 11.4 5 74.0 Tib <10 86 36
7 75 7)1 #92000m ) 30 11A7H 5] 16.5 5 77.3 1 <10 87 87
8 e R8P 1000m A 7T 11H12H i, 12.4 10 73.1 1% <10 130 130
9 PRI HL T & )19 1000m A 3T 11H12H i 10.5 8 72.6 b 12 160 172
10 K1 57 1000mf 36T 11H13H i 11.8 7 71.0 w <10 99 99
11 e S TAT 11 {559 1000m A+t 3T 11A13H 5] 11.1 10 74.6 12 <10 45 45
12 L N KA 1 {549 1000m s 3 11H13H i3 11.3 10 73.0 b <10 31 31
13 Vb S R B9 1500mfF U0 11714H = 18.5 8 71.8 b7 <10 15 15
14|/ 4% 1k PG 5% 2 55 2 D AL K400 m 13T 11H14H o 16.8 8 48.8] L | - 22 280 302
15| 8 7 IR 1 P 179 1000m A 3T 11H15H i 18.1 10 66.9 b <10 53 53
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